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i Al SCEIIe OF a particle s » = At + Bt®,
were A oand B oare constants. Find the distance
clied by it between 1s and 2s.
INEET (Phase-i) 2010]

J® A body moves in a plane so that the

= 417 Find the velocity of the body.
B e Py IODJEE 2012]
% The motion of a partic]c, along a straight iine 1s
described by equation:.® = 8 + 12t — t? where x
1S in metre and € 1s in sccond. Find tllu,.rstdrclfltlon
of the particle when its velocily pecornes zero.

| ~ [CBSE PMT 2012]
(310 A particle moves along a straighi line such
! Eacement at any time t is given by:
K 4 3t + 4. Find its velocity when its
acceleration is zero. [WEBSEE 2013]
i The displacement of a particle is given by
;- bt - ct? — dt*. Find the initial velocity
ind acceleraiion of the particle. | |
E‘WB.}’“‘E 2008, Al e 2012}
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| xpuh:-cmcm along x and y axes are x = 3t~ and
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